PLYMOUTH 	Eje X: V EXTR; 	Eje Y: Tu;	Eje Z: días Q AUX=0

SISTEMA ACUMULACION VARIABLE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [154, 91, 47, 25, 7, 0, 0, 0, 0, 0;
110, 53, 21, 4, 0, 0, 0, 0, 0, 0;
73, 28, 4, 0, 0, 0, 0, 0, 0, 0;
54, 9, 0, 0, 0, 0, 0, 0, 0, 0;
36, 0, 0, 0, 0, 0, 0, 0, 0, 0;
14, 0, 0, 0, 0, 0, 0, 0, 0, 0;
6, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];

SISTEMA ACUMULACION CONSTANTE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [56, 28, 9, 0, 0, 0, 0, 0, 0, 0;
29, 6, 0, 0, 0, 0, 0, 0, 0, 0;
9, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];


